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Materials For Examiner's Use
For this paper you must have: Pages Mark
« acalculator
«  mathematical instruments. :
4-5
Instructions BT
«  Use black ink or black ball-point pen. Draw diagrams in pencil. 8-9
«  Answer all questions. 10— 11
«  You must answer the questions in the spaces provided. Do not write
outside the box around each page or on blank pages. 12-13
. Do all rough work in this book. Cross through any work you do not 14 - 15
want to be marked.
16 - 17
Information 18 - 19
«  The marks for questions are shown in brackets.
«  The maximum mark for this paper is 80. 20 =2
«  You may ask for more answer paper, graph paper and tracing paper. 22-23
These must be tagged securely to the answer book. T
Advice _ 26— 27
« In all calculations, show clearly how you work out your answer.
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( Teacher Class 8300/MissB/3H
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Practice Paper Overview

Q Topic Mark | Total
1 Angles in Polygons 1
2 | Algebraic Factors 1
3 Factorise and Solve 1
4 Congruence 2
D Percentage Change 2
6 Scatter Graph 4
7 Quadratic Graph 7
8 Compound Interest 5
9 Product of Prime Factors 3
10 | Sine Rule MCQ 1
11 | Pie Chart 4
12 | Angles on Parallel Lines 3
13 | Form and Solve Inequalities 3
14 | Reverse Averages 3
15 | Direct Proportion 2
16 | Combined Transformations 4
17 | Algebraic Ratio 4
18 | Circle Theorem MCQ 1
19 | Perpendicular Lines 3
20 | Probability Problem 4
21 | Quadratic Formula 5
22 | lteration 3
23 | Rearranging Equations 3
24 | 3D Pythagoras 4
25 | Cosine Rule 3
26 | Algebraic Fractions 4
Total 80
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3

Answer all questions in the spaces provided.

1  Ashape has an interior angle of 120°.

éx* = \BO -0 =

w()

How many sides does the shape have? M~ 3€eq _ 6 sides

Do not write
outside the
box

&d [1 mark]
2 3 @ 15
2  Circle the Highest Common Factor (HCF) of 12xy3 and 18x3y?
6 3 [1 mark]
JC&
Zay® 3xdy? 3x3y 6xy3 6x3y”? 36xy°
3 Circle the solutionsto x? —5x — 24 =10
(oc ~8)(xc +3)= O [1 mark]
x=—6andx =4 x=—4andx =6
S——
x=—-3andx =38 x=—8andx =3
WWW.missbsresources.com 3
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4 Here are four triangles

Not drawn
accurately
A B
8 cm
70° 40° 40° 70
8 cm
C D
8cm
70° 40° 40° 70°
8cm
4 (a) Which two triangles are congruent? Circle your answers.
[1 mark]
® s e ®
4 (b)  Circle the reason for your answer to part (a).
[1 mark]

SSS SAS RHS
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5 Paul buys a laptop from PC World for £529.

cChang €
Ayear later it is worth £444.36. Pee e \OO
@B CC)\ NG
Calculate the percentage decrease in the price.
8&.-6@ X \0OO — \60/0 [2 marks]
529
i O
Answer \G /o d@Cf@&S@
6 Below is a scatter graph showing the air temperature and the
height above sea level.
10?
N /A
“o | e
®% 5 X
8o KNG
£ a0 <
) XX
< O-p - E
H ~N
5 £
Height Above Sea Level (km) .
6 (a) Describe the correlation between the air temperature and the
height above sea level. Tncreages [1 mark]
As M\%\’Y\ abase sea (ovel daaveases "
Aic Yempe/odUiR deceasep Neaokive  cacrelerkie
6 (b) Circle and write down the coordinates of the outlier.
o E [1 mark]
L. TE)
Answer C’
6 (c) Find an estimate of the height above sea level when the air
temperature is —3°C. [2 marks]

Answer (9 (i) 1 T
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7 (c) Circle the coordinates of the turning point of the curve.

(0,-3) (—2,1) (2,=7)

7 (a) Complete the table of values for y = x? + 4x — 3. [2 marks]
X —4 =3 =2 -1 0 1 2
y | 3| -6 -7|-6|-3| 2|9
7 (b)  On the gird, draw the graph of y = x? + 4x — 3.
[2 marks]
{ '15Ay ‘
10 ‘
. -5 y
i | |
Ll Ny
iz |
ey =
+ ] 8] 2 | 4 S 35 *
e e o i ERRRY |
| l |
-10 :

[1 mark]
(43 '—3)

7 (d) Use the graph to find approximate solutions to x? + 4x —3 = —5

[2 marks]

WWW.missbsresources.com
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8 The value of a new house £V is given by
V =160 000 x 1.014¢

where t is the age of house in complete years.

8 (a) Write down the value of V when t = 0.

v=16000x |- 016"

[1 mark]

Answer J(,[ | (_)OOOO

8 (b) What is the value of V after 3 years?

160 00p x 1.014>

[2 marks]

Answer &l(ob Z“«‘ =y

8 (c) After how many complete years will the house’s value rise

above £180 0007?

[2 marks]

5 weals Qlﬂ 518 .07

ég@o«s 217399.27

v

7 3&0«6 L1763s6. 14,

%0 ass 117882310

Oha,aws Liflme. LE

Answer C‘ WwWen /s

www.missbsresources.com
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¢ &

@
& 29
[\

@ w7

9  Express 1176 as a product of its prime factors in index form.

[3 marks]

AN
@ 2

2 Xx2xIX AxTx1

B

-~
Answer Z Y?)'X7Z

Circle your answer.

x 12 20y LR
sin(50)  sin(70) sin(50)  sin(14)

X B 14
sin(70) ~ sin(70)

www.missbsresources.com
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[1 mark]
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11 The pie chart shows some information about the medals the

United States received at the Rio Olympics in 2016.

United States
Medal Results

Diagram not

drawn accurately

Branze

The angle for gold would be 24° more than the angle for Silver.
There were 120 medals in total.

Work out the number of silver medals. [4 marks]

Ao+ 24 = 360 -y

2x 2y = 2LHG,

X = 232

X = |1\"

3(:-@ ‘,30 Fm/ nu ol o -
2.0

sived nadods = M = 37 naededs
3

Answer > | nwAe dals

www.missbsresources.com
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12 AB and CD are parallel to each other.

Diagram not

drawn accurately

42°

Find the size of angle x.

Give reasons for your answer. [3 marks]

180" - 4% = 132 - A“\qéab‘ tn O é\’\i&/\O\C{
270 4 éér @QL O«\qéb 4\ Aokefq eq,u&&
{5 )(., = 66" - A C&J‘/\uﬁ& cutu\({j ec/,uu\/{ / z‘_>

24+ 66+42 =\30 A—/\f)éab A ON C*NM&)\KQ_

. - 32
© i/
Answer “+ 2

www.missbsresources.com
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13  Hereis a cuboid.

3K

/x

\ 4

A

4x

All measurements are in centimetres.
x is an integer.

The total volume of the cuboid is less than 1200 cm?

Show that xj@ 5 } [3 marks]

o

QC(_‘S- Ao'é <5

fis:

Avee. cross-secfon = xx3x = 3
. 2
Jolume = Areo x (é_a\jﬁé\ = %ﬁ;lKQX, =1 e

12> £ 1200

- | - br

. ‘
x. & Li—iﬂ/éqj 17«/6% Z\uq to }7& e

i/\éé.a e

Answer

www.missbsresources.com
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14 Five integers have &

st (a3t 'L T8

amodeof79 _ 4

a median of 9 =
ameanof 8. &

You must show your working.

5bbof 4= b bk

What is the greatest posable range of the five
integers?

(’LJE__ M\SM,CEL_

[3 marks]

/ Mv&d?@
2 BRI [R] (A1 bl s = o1,
9o 90 helo M/ﬁ s /S\ e 13 (€
Stk 509y
TS 8+ gz2s
ARRB@

Answer

= v

.. [\(,L/\L);Q__ =T

15 y is directly proportional to the square of x

x 2 3 b
7" 4 A )
X
y a 36 100
Work out the value of @ and b [2 marks]
o | o .,
X X =9, JO
o~z bexle =16
3 . .
b= (ou—i = 28
h =
a= | &6 b= o
Www.missbsresources.com 5
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Do not write
utsid
13  Here is a cuboid. i
3x
- i+ /x
4x
All measurements are in centimetres.
x is an integer.
The total volume of the cuboid is less than 1200 cm?
ShOW that x < 5 [3 mal‘kS]
Answer
www.missbsresources.com 3
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14 Five integers have { ol Gust T +8

amodeof 7 o e il

_ z,/' ) A taleld
amedlanofSI & Dbk = &S

a mean of 9.
What is the greatest possible range of the five integers?

[3 marks]
You must show yworklng

e \’—\\ 1 TOCJ So {-r—)\uf‘ = 2R 5

go b»/w 23 (el
<
g,,._Jl a5 iﬁu\ e S
‘aussﬂ& f();:uéﬁn
el =
EANE \“\ﬂﬁ;\ i bt ks
Answer £ <

15 y is directly proportional to the square of x.

x 2 3 b

L & Ay n*
e

y a 36 100

Work out the value of a and b. [2 marks]

2 ’
XL K& = 50
S
= ek ~ (6
’197': (08 =4 =25

Www.missbsresources.com
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Donf)twrile
16 y Oulstl)tci,iihe
Y
8
-
ZIN
V..
., 4\
\ A
T
o N
s =0 e "
\ L/
y . — P
'_4' _4.). 2\ % ) )]
iz,
¥ K4
\
2 7
2
=6
Triangle A is drawn on a coordinate grid.
The triangle A is reflected in the line x = 1 and
then enlarged by a scale factor of —1 from the centre (1, 2) to give triangle B.
Describe fully the single transformation which maps triangle A onto triangle B.
/ [4 mark]
Ko ( leckan 1w Lo yo 2.
J
www.missbsresources.com 4
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Do not write

17 Below is a cylinder. [1 mark] | *%"

Diagram not

¥ drawn accurately

4 .
w Lag

l
i
reB=1:3 . ¥ (-.:._/lg_L /
4

Write an expression in terms of , for the volume of the cylinder.
[4 marks]

N o Aereen) X ﬁ()_/\a\a«
s

= 'ﬂi‘lx JL _

o T\(%UL;( /Q /

2 ‘/q"?\Lt;w( /
7 &

4

- %
Answer l/a\ T~ f,

Wwww.missbsresources.com 4
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Do not write

C outside the
18 B Not drawn "
accurately
53
24
A
J Bo (. Swlgtmu
Circle the size of angle ACD. =5% & . A ok
ABD o [1 mark]

34° 68° 106° 146°

19 Write down the equation of the line that is perpendicular to

y = §+ 5 and passes through (7, 1).

[3 marks]
o\h;\ck&/\t = 17-_ So p@{)m&cu(u{‘ qmilo/ﬁ R
J 7 | T / J
e W 2GN : xj: - X rC
PUINNER | = —2Xt 4+ C
| = =W
ot
el oF
Answer (L = - T X\D
o
www.missbsresources.com 4
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Do not write
20 A bag contains counters that are purple, yellow, blue and white. e
Counter | Purple | Yellow Blue White
Probability 22 2x x+5 | 3x+7
A counter is chosen at random.
The probability the counter is purple is %.
Work out the probability it is white. [4 marks]
22 o AL %0 bobud counbers = 106
Totx(._ "50
/’
1 — & i - s ;/
27 * T4 THD T HEET < |08
()7@_ ¥ Sh = HOG
@ v
9 ~ 1l g0 wh@ = 2xWt+F =GO
gt /
z
T
Lo _ 2
Answer m B ’/5;
www.missbsresources.com 4

Summer 2019
Practice Paper 1

8400/MissB/3H



17

Do not write
outside the

21 The diagram below shows a 6-sided shape. box
All the corners are right angles.

All the measurements are given in centimetres.

x4+ 3

@ x+ 4

2(x+3)

The area of the shape is 40 cm?.
21 (a) Showthat3x2 +17x — 16 = 0
72 ‘ : :
A= 5432 5= 2(xe3)(xre) = 2254 e 424

[2 marks]

-’roéi Ao = 22540\ 32424 = GO

=G0 -t O
2t Fae-16 = O

21 (b) Solve the equation
3x24+17x—16 =0 [3 marks]
Give your solutions correct to 3 significant figures.

T —— a=% ¢c=--i6
"‘btsbl"QcﬁQ L=1%

PR
132+ N2 «Q
-3t {atwax-te - ‘_4,;_5_""_23‘__5
x5 L LA JEN
— __._‘———'—‘l:;——_—“
= O:¥%2 af ,_6\(,(0\
x= 0-92C x= - 644

www.missbsresources.com
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22 An approximate solution to the equation x3 — 6x + 3 = 0 is found using
this iterative process.
_B-x)
n+1 = &
Use this iterative process to find a solution to 3 decimal places of
x3—6x+3=0

Start with the value x; = 2

i 1 - [3 marks]
%7-74:%—-(2) “'/K\
: T
S
é
Pl Ay 7\.\, :’@Cvgl\ SC)
] } p 7
Answer - (%
23 Rearrange
_wx — 5
y_w—%
. s e
to make x the subject. i 8
[3 marks]

L)\(LJ—‘-&L) = as =y
)

LWRETA = WX -5
J J

QWS = LW Hhx
[ e
Qw45 = 2 (Ww4ey)
[y
u'-} (LQ*-Lt‘j) L %ﬁ'u:))
U\Lo S
Answer 9C= ST

Www.missbsresources.com
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24 ABCDE is a square-based pyramid.
The apex of the pyramid, E, is directly over the centre of the base.

Calculate the volume of the pyramid.

Give your answer correct to 1 decimal place.

Uo{,wwne,. — (/3 X &U\&«% éqsg X Zlgs;;(,i/ﬁvé

Do not write
outside the
box

[4 marks]

Awean da- buiSe. =927 = 6(,,@«7’

losahl: USe fullns boxe. 125 == J8%3"
v e = ke
= B B =

kk:ﬁ‘fr Z\&Aj&f: 5w ;f’itiﬂ @f&-)l

(YT
AR

Voluwme = Y, X 64 X z&:\ il

—_—

Answer 7,/’]'% ?, '/

WWW.missbsresources.com
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25

4.5cm Hhaicm

89 cm

The lengths of the sides of a triangle are 4.5 cm, 5.3 cm and 8.9 cm.

Calculate the size of the largest angle of the triangle.

QZ ~ oy blu- 2ebcosC

Give your answer correct to 1 decimal place. [3 marks]

9.8 = B 358 = L T RS S ikaBRl il

Cis .. = = ’_____i‘t'—si_) v il

16 81+78 /

Answer

26  Simplify fully

x*+7x+12 x+4

e

4x -2 2 [4 marks]

| | il
Z(?CQ-Jr?’?L%\Lj@ N Z(Lvs)(x,é)

ta-)zra) 7 () Geyk)

o "

Answer |

End of Questions
www.missbsresources.com
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